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Design of Flyback Transformer with

Continuing Current Model
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ip()=ip(0)+1/Lp* | ODTVdc*dt

Vdc=Lp*dip/dt
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Bo B ok B 4 B W 5% W R A Vs()=Vo+VE (VE A —#% D1 &%)
KRB B W Fs () =is(DT)-1/Ls* fDTTVS(t)*dt
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1. 7 2 2R A
1.4 N JE 58 B Vin=85—265Vac;

2). 4 R/ R B B Vout,=5V/10A, Vout,=12V/1A;
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3). TR B89 3R =0.90

2. TAEF R R K & = Al 2.
BU IAE R % fosc=100KHz, & K & = tb Dmax=0.45.
T=1/fosc=10us.Ton(max)=0.45%10=4.5us
Toff=10-4.5=5.5us.

3. AT E B 5 kB Kk n(Np/Ns=n).

RAKH N B Vin(min)=85%\/2-20=100Vdc(FAKIN LK A 20V).
ARYEAR A5 AY T4, Vin(min)* Dmax= (Vout+V)*(1-Dmax)*n.
n= [Vin(min)* Dmax]/ [(Vout+V*(1-Dmax)]

n=[100%0.45] /[(5+1.0)*0.55]=13.64
4. R BN BIEAL BIR 69 A
K5V 4 R A 1A B A 120%;+5v Fet+12v R —ARE 49 IE &
JETE3 H 1.0V,
+5V #yh 2h & Pout,=(V, +V*Ly ¥120%=06%10%1.2=72W
+12V #r i 7 % Pout,=(V,+V)*,=13*1=13W

TR ok B b % 5 & Pout=Pout,+Pout,=85W

el % Ip,=k*Ip,, B k=0.4 Ip“
1/2*(Ip,+1p,)*Vin(min)*Ton(max)/T= Pout/q / Ip,
Ip,=2*Pout/[g(1+k)*Vin(min)*Dmax] Ip,
=2*85/[0.90*(1+0.4)*100*0.45] t R
=3.00A “on
Ip,=0.4%Ip,=1.20A ( Hm)

&
W
b=l
P
N
b=l



5. TR B KW R E 6 A

B X F Vde=Lp*dip/dt, 4%

Lp= Vin(min)*Ton(max)/ [Ip,-Ip,]
=100%4.5/[3.00-1.20]
=250uH

6.k 84K %89 L.

M X F Aw*Ae=Pt¥10°/ [2*ko*kc*fosc*Bm*j*q], 2

Pt( Rk & 6947484 2 %)= Pout=85W

Ko(& v #94R 3 7 2 #)=0.4

Kc(# S H AR F)=103F T4 84K,

Tk 357538 % & Bm=1500 Gs

(AR5 ) j=5A/mm?;

Aw*Ae=85%10°/[2*0.4*1¥100*10°*1500Gs*5*0.90]

=0.157cm”
X REGR TR, AFEE @R KRGS E R
EER2834S 4k B AR % 69 A 208, @ 47 Ae=0.854cm”
T @A Aw=148mm’=1.48cm’
EER2834S #93) & 5% RARA
Ap =Ae*Aw=1.48%0.854=1.264cm* >0.157cm*
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Np=250%(3.00-1.20)/[85.4*0.15] =35.12  BL Np=36
W Lp=uo*ur*Np*Aec/lg, 13
AWK E nguo*ur*Ae*sz /Lp
=4%3.14%107*1*85.4mm**36°/(250.0%10°mH)
=0.556mm  H1g=0.6mm
2). LB+5V [ B Ip A & KT (Ip=Ip1=3.00A),# & Bmax.
Bmax=Lp*Ip/[Ae*Np]
=250%10"*3.00/[85.4 mm>*36]
=0.2440T=2440Gs <3000Gs
R AN e
8. TR BRBIE Kyt
Ns1(5v)=Np/n=36/13.64=2.64 B Ns1=3
Ns2(12v)=(12+1)* Ns1/(5+1)=6.50 B Ns2=7
AR R IR IR in=36/3=12
9. & # M A & =tk Dmax F2 Dmin.
1. H 4 A Bk A AR A Vin(min)=100Vdc.
B Vin(min)* Dmax= (Vout+V)*(1-Dmax)*n, 3
Dmax=Vout+Vi)*n/[(Vout+ Vi) *n+ Vin(min)]
=6*12/[6*12+100]=0.418
2). B N ®E 4 &5 i Vin(max)=265%1.414=374.7Vdc.
Dmin=(Voutt+Vi)*n/[(Voutt+Vi)*n+ Vin(max)]

=6*12.00/[6*¥12.00+374.7]=0.16
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10. EHFHAZE TR B BB R 64 Ip Fo B Z4A Ip(rms).
D). AR Ay FAK Vin(min)fe & 2 A Dmax 454 T, 3 5 Ip
fiFe K 45.(n B Z)
% Ip,=k*Ip,. 2R 4k 2 & Pout'=6*10+13*1=73W
1/2*(Ip,+Ip,)*Vin(min)*Ton(max)/T= Pout'/y (1)
K=1-[Vin(min)* Ton(max)]/(Ip,*Lp) )
w7 (1)(2) 1%
Ip,=1/2%{2*Pout™*T/[g* Vin(min)*Ton(max)]+
Vin(min)* Ton(max)/Lp}
=0.5%{2*73*10,/[0.90%100%4.18]+100%4.18/250.0}
=2.78A
K=1-100%4.18/[2.78*250]=0.40
Ip,=k*Ip,=2.78*0.40=1.11A
2). 1 B AA FAL Ip(rms)=[Ton/BT)*(Ip1*+Ip22+Ip1*Ip2)] />

=[0.418/3*(2.78*+1.11>+2.78*1.11)] '/

=1.30A
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11, RBLE 6L b7 Fa A 3R oA F
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A AB FFE A AR A 69 BRI B IF K E AR B BOEE RIS R 409
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1). B FABR 12V fy b =) 38R 28 T8 09 IR T Ay 1 2k, WAL T de

T(E—):
Is,(+12v) ¢ Is,(+12v) 4
ISZP ISlp
ISZb
t
—r——» «—
Ton toff Ton toff
(B ) (H %)

1/2*[Isy, +1s,,]*toff/ T=1), (3)
Ls1#(Is,, — Isy,]/toff=V,+VE 4
Ls2/Lp=(Ns,/Np)* 5
B ()@ (G) XA

Iszp:l /2* {2*102/ [1 _D] + [\702+Vﬂ * [1 —D] *T*sz/ WSZZ*LP] }
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=0.5%{2*1 /[1-0.418]+[12+1]*[1-0.418]*¥10*36°/ [7>250] }
=5.72A
Is,, =1, /[1-D]-1/2*[V, + VI *[1-D]*Np°/ [Ns,>*Lp]
=1/0.582-0.5%13*0.582*10%36°/ [7%250]
=-2.28A <0
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1/25Is,, %t /T=1, (6)
Ls*Is, /t" =V +VE (7))
Ls,/Lp=(Ns,/Np)’ (®)
B (0)(7)(8) XA
Is;,= {(Vort VO *2* ¥ T*Np®/ [Lp*Ns, ]} e
= {2 1*[124+1]%10%367/ [7>250] } /2
=5.24A
t =2¥*T/ 1s,,=2*1%10/5.24=3.817us
2).+12V Hir b & 350k 2R 4% B 69 A AR IR
Isy(rms)= [¢” /(3T)])"/*#1s,,
=[3.817/3*10] '/%¥5.24
=1.87A
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2. KR BA0 BB Fa R B 0 RAARTH

1). &A% A AR

BB E 42 %), I A % B j=5A/mm”

TR B R LB 5 LA &A= Ip(ms) /j=1.3A/5A/mm°=0.26mm>
TERERELE:
(+5V)F £ A& @ 7= Is,(rms) /j=18.7A/5A/mm?=3.74 mm®
(+12V) F & &, @ #7= Is,(rms) /j=1.87A/5A/mm*=0.374mm”
2). & A2 BRARH Y L L.
F 5 F XA A IR AT, B S &4 A R AR A 245,
TR E=66.1%/(0"?  k HHE % $,Cu & 20C B k=1.

=66.1/(100%10%'2=0.20

B B3 2% 69 2242 X &A 3T 0.40mm.

B TJ EER2834S B 42 % A 22mm,fh2 6.0mm #9353 % E UH# T

16.0mm #9 2% &, 5 . B SLPT ik L& A2 04 IR ith R A 2 2%, ) M 4 220
3). T BB B LA

2% B AR £=0.26%4/[0.4%0.4*3.14]=0.26/0.1256=2

B D0.40%2 AR5 4% 18 B, 51 & b B4 4.

4). Tk 35 R RLE B LAz

+5V: & B A 4£=3.74/0.1256=30

B D040K10 AFF L3 B, =B FIHESA.
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+12V: & B #%4£=0.374/0.1256=3

R D0.40M ARFF4 T B, 5= BT A.
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